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‘$% ��&�����	 ��'� �� ����( )�*�� ����� ������(�+� ���������� ��',�� �	�
� ��-. �����।’ ��'�� )��1, � ! 
�,�2���� 3��� 4 5����� ��',�� 6��� �(�+� ��%�� ����� 	��(� ��-.! 
���� 5� �	�
� ����� ��� ����- 	�� ����, 
������(�+ ��9(���� �9�	� ��+:;� ����<� ���� 63� ���, 	�� �+� 2����	 �;���, ��9(���� ���-����� =2� �(��% 
���। 	�� >���, ������  ��'� )���	 �?�� (,@:�	������ ���2��+� ��', ���A�	 �,�2���� ���� �B����� (New Age, 
11 2012)।February  
 
‘�����’ 2�O��� (Samakal, 17 February 2012) 3�� 
�,���� ��O WX ����� ������Y ���� ������ )�A� ��� ������ 
�����(� �(!��� )�*�� ���.- �����(� �(!��� )�*�� 2�Z� ����� ��'� )�*�� 6,�[ �(3��	 �1����� (,@:�	������। 
	�%, ���������� 5% ���� ���� �A -���� �	�
� %�*	 �(� ��� >+�+� ��� ����।‘����������	 ��'� �� ����( 
)�*�� ����B ���� 5��� ���� <�’- 5� �2��� ���+� ����<� �	�� ��� ���� >+�+� 	� 	���� �(3��।  
 
?��� ������Y ������ ���� ���	 ��-. ����� �� )�)��	 �(�3�� �����(� �(!��� )��?�� ��-.�� ��'� )��1� �� 
�,�2���� ������ 6,�[6,[ ���� 2���\��� ���	 2��� �6�� (,@:�	������, !��% ����� !�(� �����6��?�� �]�6�? �,�^ 
���_��	� ���(� �,��	 ?��� ���,�’�� �����Y ������ �.���� ��� �(�+� �����` a�	�b 
�-�c	 ��	 �6 ��1c ��- 
	��%�� ��d�	� ��? 	�% 5�� (,@:�	������% f�-�� ������(�+� ��. �A -���� �	
।  
 
���������� ��'� )�*�� � � > � ����	 2��� ���� 5� �g,� ����। 5% �g,B ����� ��'� )�*�� (:+. -��� ��� 
YOUTUBE –5� ��
 �� ������(+� ����B 2�O��� ��
 2�o��। �g,B ��������	 63� ����� ����B �����, 	�� 
�������� 
����% 	3� ����������	- 	��(� ����2p�� � � �)�� �g,B 3,� �1�q	 ���।  
 
�g,B� ��* � � �+�� ��A� ����� 2�  ���� �g,� ��* �(3�। 5% �g,B ����� �6, ���)r >1�� ��-��. ���������� ���� 
���� �6 ����1�� ��s ������ ���, ���, 	�� FACEBOOK- 5 �����। ��� ���� !�(� �(!�� ��=� ��
 ?,��  2A�� 2� 
YOUTUBE –��
 5� �)��! �(3�����- ��
B 53��� �(!�� 
���(http://www.youtube.com/watch?v=A9tROuWK2BI&feature=youtu.be)।  
 
YOUTUBE 5� ���
 �)��!B �(3�	 �(3�	 )������� ���� ������ ����� @,� �g,�(� � �, )������� ������(�+� 
f�-��	�� 6,��� � �। �$�� ���� �6 �(�+� ���,� -�� ������� =�-� =�o f�-��	�� 6,� ������, f�-��	�� �X ��� 2� 
��% �(�+� ���,���� 2�+�2��+ 
����� � �� ���)r -��=2������?,���	 ��)� �� ��� �6 �6 6�� -�� 11� � ���	 2���� ��? ��� 
�;���, ��9(���� ���-����� =2� ��� ��� 5)��� ����� ���?- ���� )���% �6� 5� =p� 3,�� 2��s ��।  
 
���(�+ ��� ������(+� ������ ������ 2��1� �(�	 ?�� ���- ���- ����� ������(+�� ���� ?�� ���� 
��� ���, ���- 
��� �� ��&������ �q�� ��	� ��	: )��� �(�� ������ ���� ������ �?���, ��� f�-��	� 6,��� ���6 
�� ��� �?���, 
��� ������(�+� �q�� �� 5=�,��� ������ 2,���� ���)� �?���। ����,  ���(+� �g]�(� ���� ������(+� ������ ���� 
�� � �	 ���� �	 ����! ���, ��� ���_��	� �	.�, ��� ��,��,�� �	.�, ��� ��9(���� �9�	� ��+:;�	�- ��� 
$X% %���� -�� ������� �(�+ �X% 
<. -�� �������(� )�)��	�	 -�� 11� � ���� ����- �X ��� ����� ������(�+ 
����2	.� ������ ���	���� ��A� 2,����2 ?,���	 �������� 2,��� ��6��� �� ��� ���� ���� ��%।  
 
f�-�� ������(+- -�� �<� ������+�� ����(� ����� �(+। 5� �����- ����(�  ����, 5� (,�����- ����(� (,����।       
 



	�%, ������(�+� +��q���� >�	B ��?����� �	 ����! ������� ���� 5% >	.�+� �6, ���������� ����B� ?,�� 
����1��� ���� ����� (,@:�	�����(� ! 	��(� �����6��?�(� 3,�� ��� ��� (:c�q�,�� +���� ���d�	� ��-�� ��� 
������(�+ ���)r -���� �������� 6��	 �����(� .2]<� 2�����+ �6 6�� -���� =2���� ���	 2��� �� 
���� �:�c ����।  
 
 
 


